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1. Determine the natural circular frequency (®, ) ofmass m if K, = 20 kN/m,

K,=K,=40kN/m,K,=30kN/m and m=150kg.
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2. The maximum velocity attained by the mass of a simple harmonic oscillator is 0.15 m/s, and
the period of oscillationis 4 second. If the mass is released with and initial displacement
of 0.06 m, find

a) the amplitude
b) the initial velocity
¢) the maximum acceleration

d) the phase angle



3. Find the natural frequency of the pulley system by neglecting the friction and the masses of the

pulleys.




4. Derive the equation of motion and find the natural frequency of vibration of the system shown

below.




5. Determine the amplitude of free vibration responseat t = 1 second if m=10kg,

¢ = 250N.s/m, K = 1000N/m, X,=01m, X, = 10m/s.



